



Available online at <http://scik.org>

Advances in Inequalities and Applications, 2 (2013), No. 1, 1-15

ISSN 2050-7461

SOME INEQUALITIES OF HERMITE-HADAMARD TYPE FOR h -CONVEX FUNCTIONS

BO-YAN XI^{1,*} AND FENG QI²

¹College of Mathematics, Inner Mongolia University for Nationalities,
Tongliao City, Inner Mongolia Autonomous Region, 028043, China

²School of Mathematics and Informatics, Henan Polytechnic University,
Jiaozuo City, Henan Province, 454010, China

Abstract. In the paper, the authors establish some new integral inequalities of Hermite-Hadamard type for h -convex functions.

Keywords: Hermite-Hadamard's integral inequality; h -convex function.

2000 AMS Subject Classification: 26A51; 26D15; 41A55

1. Introduction

Throughout this paper, we use the following notations:

$$\mathbb{R} = (-\infty, \infty), \quad \mathbb{R}_0 = [0, \infty), \quad \text{and} \quad \mathbb{R}_+ = (0, \infty).$$

We first recite some definitions of various convex functions.

Definition 1.1. A function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be convex if

$$(1.1) \quad f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

holds for all $x, y \in I$ and $\lambda \in [0, 1]$.

*Corresponding author

Received December 14, 2012

Definition 1.2 ([17]). Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}$ be a non-negative function. A function $f : I \rightarrow \mathbb{R}$ is called h -convex, or say, f belongs to the class $SX(h, I)$, if f is non-negative and

$$(1.2) \quad f(tx + (1-t)y) \leq h(t)f(x) + h(1-t)f(y)$$

for all $x, y \in I$ and $t \in [0, 1]$.

The following theorems are some inequalities of Hermite-Hadamard type for the above mentioned convex functions.

Theorem 1.3 ([9, Theorem 2.2]). Let $f : I^\circ \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping and $a, b \in I^\circ$ with $a < b$. If $|f'(x)|$ is convex on $[a, b]$, then

$$(1.3) \quad \left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{b-a}{8} (|f'(a)| + |f'(b)|).$$

Theorem 1.4 ([13, Theorem 4]). Let $I \subseteq \mathbb{R}$ be an open interval, $a, b \in I$ with $a < b$, $f : I \rightarrow \mathbb{R}$ be a twice differentiable mapping such that $f''(x)$ is integrable. If $|f''(x)|$ is a convex function on $[a, b]$ and $0 \leq \lambda \leq 1$, then

$$(1.4) \quad \left| (\lambda - 1)f\left(\frac{a+b}{2}\right) - \lambda \frac{f(a) + f(b)}{2} + \int_a^b f(x) dx \right| \leq \begin{cases} \frac{(b-a)^2}{24} \left\{ \left[\lambda^4 + (1+\lambda)(1-\lambda)^3 + \frac{5\lambda-3}{4} \right] |f''(a)| \right. \\ \quad \left. + \left[\lambda^4 + (2-\lambda)\lambda^3 + \frac{1-3\lambda}{4} \right] |f''(b)| \right\}, & 0 \leq \lambda \leq \frac{1}{2}; \\ \frac{(b-a)^2}{48} (3\lambda - 1)(|f''(a)| + |f''(b)|), & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

For more information on this topic, please refer to [1, 2, 3, 6, 7, 10, 13, 14, 15, 17], recently published articles [4, 5, 8, 11, 12, 16, 18, 19, 20, 21, 22, 23, 24, 25] by the authors, and closely related references therein.

Theorem 1.5 ([2, Theorems 1 and 2]). Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $|f''|$ is an h -convex function on $[a, b]$ for some fixed $q > 1$, then

$$(1.5) \quad \left| f\left(\frac{a+b}{2}\right) - \int_0^1 f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{1}{2p+1}\right)^{1/p} \left[\int_a^b h(x) dx \right]^{1/q} \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left\{ \left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right\}^{1/q} \right\}$$

and

$$(1.6) \quad \left| f\left(\frac{a+b}{2}\right) - \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{48} \left[\int_0^1 h(x) dx \right]^{1/q} \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left\{ \left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right\}^{1/q} \right\},$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

In this paper, we will establish some new integral inequalities of Hermite-Hadamard type for h -convex functions.

2. Lemmas

For establishing our new integral inequalities of Hermite-Hadamard type for h -convex functions, we need the following integral identity.

Lemma 2.1. *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a twice differentiable function I° and $\lambda \in \mathbb{R}$. If $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$, then*

$$(2.1) \quad \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \\ = \frac{(b-a)^2}{16} \int_0^1 t(2\lambda - t) \left[f''\left((1-t)a + t\frac{a+b}{2}\right) + f''\left(t\frac{a+b}{2} + (1-t)b\right) \right] dt.$$

Proof. Integrating by part yields

$$\frac{(b-a)^2}{16} \int_0^1 t(2\lambda - t) \left[f''\left((1-t)a + t\frac{a+b}{2}\right) + f''\left(t\frac{a+b}{2} + (1-t)b\right) \right] dt \\ = \frac{b-a}{8} \left[t(2\lambda - t) f'\left((1-t)a + t\frac{a+b}{2}\right) \Big|_0^1 + \int_0^1 (2t - 2\lambda) f'\left((1-t)a + t\frac{a+b}{2}\right) dt \right. \\ \left. - t(2\lambda - t) f'\left(t\frac{a+b}{2} + (1-t)b\right) \Big|_0^1 - \int_0^1 (2t - 2\lambda) f'\left(t\frac{a+b}{2} + (1-t)b\right) dt \right] \\ = \frac{b-a}{4} \int_0^1 (t - \lambda) \left[f'\left((1-t)a + t\frac{a+b}{2}\right) - f'\left(t\frac{a+b}{2} + (1-t)b\right) \right] dt$$

$$\begin{aligned}
&= \frac{1}{2} \left[(t - \lambda) f \left((1 - t)a + t \frac{a+b}{2} \right) \Big|_0^1 - \int_0^1 f \left((1 - t)a + t \frac{a+b}{2} \right) dt \right. \\
&\quad \left. + (t - \lambda) f \left(t \frac{a+b}{2} + (1 - t)b \right) \Big|_0^1 - \int_0^1 f \left(t \frac{a+b}{2} + (1 - t)b \right) dt \right] \\
&= \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f \left(\frac{a+b}{2} \right) - \frac{1}{b-a} \int_a^b f(x) dx.
\end{aligned}$$

The completes the proof of Lemma 2.1. \square

Lemma 2.2. *Let $0 \leq \lambda \leq 1$ and $r > -1$. Then*

$$\int_0^1 t |2\lambda - t|^r dt = \begin{cases} \frac{(2\lambda)^{r+2} + (2\lambda + r + 1)(1 - 2\lambda)^{r+1}}{(r + 1)(r + 2)}, & 0 \leq \lambda \leq \frac{1}{2}, \\ \frac{(2\lambda)^{r+2} - (2\lambda + r + 1)(2\lambda - 1)^{r+1}}{(r + 1)(r + 2)}, & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

Proof. The proof is straightforward. \square

3. Some new integral inequalities of Hermite-Hadamard type

We are now in a position to establish some new integral inequalities of Hermite-Hadamard type for differentiable and h -convex functions.

Theorem 3.1. *Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $0 \leq \lambda \leq 1$ and $|f''|^q$ is an h -convex function on $[a, b]$ for $q \geq 1$, then*

$$\begin{aligned}
(3.1) \quad & \left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f \left(\frac{a+b}{2} \right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} [H_1(\lambda)]^{1-1/q} \\
& \times \left\{ \left[|f''(a)|^q \int_0^1 t |2\lambda - t| h(1-t) dt + \left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t |2\lambda - t| h(t) dt \right]^{1/q} \right. \\
& \quad \left. + \left[\left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t |2\lambda - t| h(t) dt + |f''(b)|^q \int_0^1 t |2\lambda - t| h(1-t) dt \right]^{1/q} \right\},
\end{aligned}$$

where

$$(3.2) \quad H_1(\lambda) = \begin{cases} \frac{8\lambda^3 - 3\lambda + 1}{3}, & 0 \leq \lambda \leq \frac{1}{2}, \\ \frac{3\lambda - 1}{3}, & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

Proof. From Lemma 2.1 and Hölder's inequality, we have

$$\begin{aligned}
(3.3) \quad & \left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
& \leq \frac{(b-a)^2}{16} \left\{ \int_0^1 t |2\lambda - t| \left[\left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right| + \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right| \right] dt \right\} \\
& \leq \frac{(b-a)^2}{16} \left(\int_0^1 t |2\lambda - t| dt \right)^{1-1/q} \left\{ \left[\int_0^1 t |2\lambda - t| \left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right|^q dt \right]^{1/q} \right. \\
& \quad \left. + \left[\int_0^1 t |2\lambda - t| \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right|^q dt \right]^{1/q} \right\}.
\end{aligned}$$

Using Lemma 2.2, we have

$$(3.4) \quad \int_0^1 t |2\lambda - t| dt = \begin{cases} \frac{8\lambda^3 - 3\lambda + 1}{3}, & 0 \leq \lambda \leq \frac{1}{2} \\ \frac{3\lambda - 1}{3}, & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

Therefore, by the h -convexity of $|f''|^q$, we obtain

$$\begin{aligned}
(3.5) \quad & \int_0^1 t |2\lambda - t| \left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right|^q dt \\
& \leq |f''(a)|^q \int_0^1 t |2\lambda - t| h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t |2\lambda - t| h(t) dt
\end{aligned}$$

and

$$\begin{aligned}
(3.6) \quad & \int_0^1 t |2\lambda - t| \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right|^q dt \\
& \leq \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t |2\lambda - t| h(t) dt + |f''(b)|^q \int_0^1 t |2\lambda - t| h(1-t) dt.
\end{aligned}$$

Substituting the equation (3.4) and the inequalities (3.5) and (3.6) into the inequality (3.3) yields the inequality (3.1). Theorem 3.1 is thus proved. \square

Corollary 3.2. *Under the conditions of Theorem 3.1, if $h : J \rightarrow \mathbb{R}_0$ is symmetric to $\frac{1}{2}$, then*

$$\begin{aligned}
& \left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left[\int_0^1 t |2\lambda - t| h(t) dt \right]^{1/q} \\
& \quad \times [H_1(\lambda)]^{1-1/q} \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\};
\end{aligned}$$

Furthermore, if $\lambda = 0$ also, then

$$(3.7) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{3^{1/q}(b-a)^2}{48} \left[\int_0^1 t^2 h(t) dt \right]^{1/q} \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\}.$$

Corollary 3.3. Under the conditions of Theorem 3.1, when $q = 1$, we have

$$(3.8) \quad \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \\ \times \left\{ \left[|f''(a)| + |f''(b)| \right] \int_0^1 t |2\lambda - t| h(1-t) dt + 2 \left| f''\left(\frac{a+b}{2}\right) \right| \int_0^1 t |2\lambda - t| h(t) dt \right\}.$$

Corollary 3.4. Under the conditions of Theorem 3.1,

(1) when $\lambda = 0$, we have

$$(3.9) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{3^{1/q}(b-a)^2}{48} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t^2 h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^2 h(t) dt \right]^{1/q} \right. \\ \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^2 h(t) dt + |f''(b)|^q \int_0^1 t^2 h(1-t) dt \right]^{1/q} \right\};$$

(2) when $\lambda = \frac{1}{3}$, we have

$$(3.10) \quad \left| \frac{1}{6} \left[f(a) + f(b) + 4f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{162} \left(\frac{81}{8} \right)^{1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t \left| \frac{2}{3} - t \right| h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t \left| \frac{2}{3} - t \right| h(t) dt \right. \right. \\ \left. \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t \left| \frac{2}{3} - t \right| h(t) dt + |f''(b)|^q \int_0^1 t \left| \frac{2}{3} - t \right| h(1-t) dt \right]^{1/q} \right\};$$

(3) when $\lambda = \frac{1}{2}$, we have

$$(3.11) \quad \left| \frac{1}{2} \left[\frac{f(a) + f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \leq \frac{6^{1/q}(b-a)^2}{96} \left(\int_0^1 t(1-t) h(t) dt \right) \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\};$$

(4) when $\lambda = 1$, we have

$$(3.12) \quad \left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{24} \left(\frac{3}{2} \right)^{1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t(2-t)h(1-t) dt + \left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t(2-t)h(t) dt \right]^{1/q} \right. \\ \left. + \left[\int_0^1 t(2-t)h(t) dt \left| f'' \left(\frac{a+b}{2} \right) \right|^q + |f''(b)|^q \int_0^1 t(2-t)h(1-t) dt \right]^{1/q} \right\}.$$

Theorem 3.5. Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $0 \leq \lambda \leq 1$ and $|f''|^q$ is an h -convex function on $[a, b]$ for $q > 1$, then

$$(3.13) \quad \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda) f \left(\frac{a+b}{2} \right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} [H_2(\lambda)]^{1-1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 th(1-t) dt + \left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 th(t) dt \right]^{1/q} \right. \\ \left. + \left[\left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 th(t) dt + |f''(b)|^q \int_0^1 th(1-t) dt \right]^{1/q} \right\},$$

where

$$(3.14) \quad H_2(\lambda) = \begin{cases} \frac{(q-1)[(q-1)(2\lambda)^{(3q-2)/(q-1)} + (2q+2\lambda q-2\lambda-1)(1-2\lambda)^{(2q-1)/(q-1)}]}{(2q-1)(3q-2)}, & 0 \leq \lambda \leq \frac{1}{2}, \\ \frac{(q-1)\{(q-1)(2\lambda)^{(3q-2)/(q-1)} + [2q-4\lambda^2(q-1)-2\lambda q-1](2\lambda-1)^{q/(q-1)}\}}{(2q-1)(3q-2)}, & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

Proof. Using Lemma 2.1, Hölder's inequality, and the h -convexity of $|f''|^q$, we have

$$\left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda) f \left(\frac{a+b}{2} \right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \\ \times \left\{ \int_0^1 t|2\lambda-t| \left[\left| f'' \left((1-t)a + t \frac{a+b}{2} \right) \right|^q + \left| f'' \left(t \frac{a+b}{2} + (1-t)b \right) \right|^q \right] dt \right\} \\ \leq \frac{(b-a)^2}{16} \left[\int_0^1 t|2\lambda-t|^{q/(q-1)} dt \right]^{1-1/q} \left\{ \left[\int_0^1 t \left| f'' \left((1-t)a + t \frac{a+b}{2} \right) \right|^q dt \right]^{1/q} \right. \\ \left. + \left[\int_0^1 t \left| f'' \left(t \frac{a+b}{2} + (1-t)b \right) \right|^q dt \right]^{1/q} \right\}$$

$$\begin{aligned} &\leq \frac{(b-a)^2}{16} [H_2(\lambda)]^{1-1/q} \left\{ \left[|f''(a)|^q \int_0^1 th(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 th(t) dt \right]^{1/q} \right. \\ &\quad \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 th(t) dt + |f''(b)|^q \int_0^1 th(1-t) dt \right]^{1/q} \right\}, \end{aligned}$$

where we used Lemma 2.2 to deduce $H_2(\lambda)$. The proof of Theorem 3.5 is complete. \square

Corollary 3.6. *Under the conditions of Theorem 3.5, if $h : J \rightarrow \mathbb{R}_0$ is symmetric to $\frac{1}{2}$, then*

$$(3.15) \quad \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda)f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} [H_2(\lambda)]^{1-1/q} \\ \times \left[\int_0^1 th(t) dt \right]^{1/q} \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\};$$

Furthermore, if $\lambda = 0$ also, then

$$(3.16) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{3q-2}\right)^{1-1/q} \left[\int_0^1 th(t) dt \right]^{1/q} \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\}.$$

Remark 3.7. *Under the conditions of Theorem 3.5, if $\lambda = 0, \frac{1}{3}, \frac{1}{2}, 1$, we have*

$$H_2\left(\frac{1}{3}\right) = \frac{q-1}{(2q-1)(3q-2)} \left[(q-1) \left(\frac{2}{3}\right)^{(3q-2)/(q-1)} + (8q-5) \left(\frac{1}{3}\right)^{(3q-2)/(q-1)} \right], \\ H_2(0) = \frac{q-1}{3q-2}, \quad H_2\left(\frac{1}{2}\right) = \frac{(q-1)^2}{(2q-1)(3q-2)},$$

and

$$H_2(1) = \frac{q-1}{(2q-1)(3q-2)} [2^{(3q-2)/(q-1)}(q-1) - 4q + 3].$$

Theorem 3.8. *Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $0 \leq \lambda \leq 1$ and $|f''|^q$ is an h -convex function on $[a, b]$ for $q > 1$, then*

$$(3.17) \quad \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda)f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} [H_3(\lambda)]^{1-1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t^q h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^q h(t) dt \right]^{1/q} \right.$$

$$+ \left[\left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t^q h(t) dt + |f''(b)|^q \int_0^1 t^q h(1-t) dt \right]^{1/q} \Bigg\},$$

where

$$(3.18) \quad H_3(\lambda) = \begin{cases} \frac{(q-1)[(2\lambda)^{(2q-1)/(q-1)} + (1-2\lambda)^{(2q-1)/(q-1)}]}{2q-1}, & 0 \leq \lambda \leq \frac{1}{2}, \\ \frac{(q-1)[(2\lambda)^{(2q-1)/(q-1)} - (2\lambda-1)^{(2q-1)/(q-1)}]}{2q-1}, & \frac{1}{2} \leq \lambda \leq 1. \end{cases}$$

Proof. By Lemma 2.1, Hölder's inequality, and the h -convexity of $|f''|^q$, we have

$$\begin{aligned} & \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda)f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{(b-a)^2}{16} \left\{ \int_0^1 t |2\lambda - t| \left[\left| f'' \left((1-t)a + t \frac{a+b}{2} \right) \right| + \left| f'' \left(t \frac{a+b}{2} + (1-t)b \right) \right| \right] dt \right\} \\ & \leq \frac{(b-a)^2}{16} \left[\int_0^1 |2\lambda - t|^{q/(q-1)} dt \right]^{1-1/q} \left\{ \left[\int_0^1 t^q \left| f'' \left((1-t)a + t \frac{a+b}{2} \right) \right|^q dt \right]^{1/q} \right. \\ & \quad \left. + \left[\int_0^1 t^q \left| f'' \left(t \frac{a+b}{2} + (1-t)b \right) \right|^q dt \right]^{1/q} \right\} \\ & \leq \frac{(b-a)^2}{16} [H_3(\lambda)]^{1-1/q} \left\{ \left[|f''(a)|^q \int_0^1 t^q h(1-t) dt + \left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t^q h(t) dt \right]^{1/q} \right. \\ & \quad \left. + \left[\left| f'' \left(\frac{a+b}{2} \right) \right|^q \int_0^1 t^q h(t) dt + |f''(b)|^q \int_0^1 t^q h(1-t) dt \right]^{1/q} \right\}. \end{aligned}$$

The proof of Theorem 3.8 is complete. \square

Corollary 3.9. Under the conditions of Theorem 3.8, if $h : J \rightarrow \mathbb{R}_0$ is symmetric to $\frac{1}{2}$, then

$$\begin{aligned} & \left| \lambda \frac{f(a) + f(b)}{2} + (1-\lambda)f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} [H_3(\lambda)]^{1-1/q} \\ & \quad \times \left[\int_0^1 t^q h(t) dt \right]^{1/q} \left\{ \left[|f''(a)|^q + \left| f'' \left(\frac{a+b}{2} \right) \right|^q \right]^{1/q} + \left[\left| f'' \left(\frac{a+b}{2} \right) \right|^q + |f''(b)|^q \right]^{1/q} \right\}. \end{aligned}$$

Remark 3.10. Under the conditions of Theorem 3.8, if $\lambda = 0, \frac{1}{3}, \frac{1}{2}, 1$, we have

$$\begin{aligned} H_3(0) &= \frac{q-1}{2q-1}, \quad H_3\left(\frac{1}{3}\right) = \frac{q-1}{2q-1} \left[\left(\frac{2}{3}\right)^{(2q-1)/(q-1)} + \left(\frac{1}{3}\right)^{(2q-1)/(q-1)} \right], \\ H_3\left(\frac{1}{2}\right) &= \frac{q-1}{2q-1}, \quad H_3(1) = \frac{q-1}{2q-1} [2^{(2q-1)/(q-1)} - 1]. \end{aligned}$$

Theorem 3.11. *Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $0 \leq \lambda \leq 1$ and $|f''|^q$ is an h -convex function on $[a, b]$ for $q > 1$, then*

$$(3.19) \quad \left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{2q-1}\right)^{1-1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 |2\lambda - t|^q h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 |2\lambda - t|^q h(t) dt \right]^{1/q} \right. \\ \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 |2\lambda - t|^q h(t) dt + |f''(b)|^q \int_0^1 |2\lambda - t|^q h(1-t) dt \right]^{1/q} \right\}.$$

Proof. Using Lemma 2.1, Hölder's inequality, and the h -convexity of $|f''|^q$, we have

$$\left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \leq \frac{(b-a)^2}{16} \left\{ \int_0^1 t |2\lambda - t| \left[\left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right| + \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right| \right] dt \right\} \\ \leq \frac{(b-a)^2}{16} \left[\int_0^1 t^{q/(q-1)} dt \right]^{1-1/q} \left\{ \left[\int_0^1 |2\lambda - t|^q \left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right|^q dt \right]^{1/q} \right. \\ \left. + \left[\int_0^1 |2\lambda - t|^q \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right|^q dt \right]^{1/q} \right\} \\ \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{2q-1}\right)^{1-1/q} \left\{ \left[|f''(a)|^q \int_0^1 |2\lambda - t|^q h(1-t) dt \right. \right. \\ \left. \left. + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 |2\lambda - t|^q h(t) dt \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 |2\lambda - t|^q h(t) dt \right. \right. \\ \left. \left. + |f''(b)|^q \int_0^1 |2\lambda - t|^q h(1-t) dt \right]^{1/q} \right\}.$$

The proof of Theorem 3.11 is complete. \square

Corollary 3.12. *Under the conditions of Theorem 3.11, if $h : J \rightarrow \mathbb{R}_0$ is symmetric to $\frac{1}{2}$, then*

$$\left| \lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left[\int_0^1 |2\lambda - t|^q h(t) dt \right]^{1/q} \\ \times \left(\frac{q-1}{2q-1}\right)^{1-1/q} \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\}.$$

Theorem 3.13. *Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $|f''|^q$ is an h -convex function on $[a, b]$ for $q > 1$ and $2q \geq r \geq 0$, then*

$$(3.20) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{3q-r-1} \right)^{1-1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t^r h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r h(t) dt \right]^{1/q} \right. \\ \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r h(t) dt + |f''(b)|^q \int_0^1 t^r h(1-t) dt \right]^{1/q} \right\}.$$

Proof. Using Lemma 2.1, Hölder's inequality, and the h -convexity of $|f''|^q$, we have

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \leq \frac{(b-a)^2}{16} \left(\int_0^1 t^{(2q-r)/(q-1)} dt \right)^{1-1/q} \left\{ \left[\int_0^1 t^r \left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right|^q dt \right]^{1/q} \right. \\ \left. + \left[\int_0^1 t^r \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right|^q dt \right]^{1/q} \right\} \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{3q-r-1} \right)^{1-1/q} \\ \times \left\{ \left[|f''(a)|^q \int_0^1 t^r h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r h(t) dt \right]^{1/q} \right. \\ \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r h(t) dt + |f''(b)|^q \int_0^1 t^r h(1-t) dt \right]^{1/q} \right\}.$$

The proof of Theorem 3.13 is complete. \square

Corollary 3.14. *Under the conditions of Theorem 3.13, if $h : J \rightarrow \mathbb{R}_0$ is symmetric to $\frac{1}{2}$, then*

$$(3.21) \quad \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{3q-r-1} \right)^{1-1/q} \left[\int_0^1 t^r h(t) dt \right]^{1/q} \\ \times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\};$$

Furthermore,

(1) if $r = 0$ also, we have

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{16} \left(\frac{q-1}{3q-1} \right)^{1-1/q} \left[\int_0^1 h(t) dt \right]^{1/q}$$

$$\times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\};$$

(2) if $r = 2q$ also, we have

$$\begin{aligned} \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| &\leq \frac{(b-a)^2}{16} \left[\int_0^1 t^{2q} h(t) dt \right]^{1/q} \\ &\times \left\{ \left[|f''(a)|^q + \left| f''\left(\frac{a+b}{2}\right) \right|^q \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q + |f''(b)|^q \right]^{1/q} \right\}. \end{aligned}$$

Theorem 3.15. Let $I, J \subseteq \mathbb{R}$ be intervals, $(0, 1) \subseteq J$, and $h : J \rightarrow \mathbb{R}_0$. Let $f : I \rightarrow \mathbb{R}$ be a twice differentiable function on I° such that $f'' \in L([a, b])$ for $a, b \in I$ with $a < b$. If $|f''|^q$ is an h -convex function on $[a, b]$ for $q > 1$ and $q \geq r, s \geq 0$, then

$$\begin{aligned} \left| \frac{1}{2} \left[\frac{f(a) + f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| &\leq B^{1-1/q} \left(\frac{2q-r-1}{q-1}, \frac{2q-s-1}{q-1} \right) \\ &\times \frac{(b-a)^2}{16} \left\{ \left[|f''(a)|^q \int_0^1 t^r (1-t)^s h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r (1-t)^s h(t) dt \right]^{1/q} \right. \\ &\quad \left. + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r (1-t)^s h(t) dt + |f''(b)|^q \int_0^1 t^r (1-t)^s h(1-t) dt \right]^{1/q} \right\}. \end{aligned}$$

where $B(\alpha, \beta)$ denotes the well known Beta function which may be defined by

$$(3.22) \quad B(\alpha, \beta) = \int_0^1 t^{\alpha-1} (1-t)^{\beta-1} dt, \quad \alpha, \beta > 0.$$

Proof. Using Lemma 2.1, Hölder's inequality, and the h -convexity of $|f''|^q$, we have

$$\begin{aligned} &\left| \frac{1}{2} \left[\frac{f(a) + f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ &\leq \frac{(b-a)^2}{16} \left\{ \int_0^1 t(1-t) \left[\left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right| + \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right| \right] dt \right\} \\ &\leq \frac{(b-a)^2}{16} \left[\int_0^1 t^{(q-r)/(q-1)} (1-t)^{(q-s)/(q-1)} dt \right]^{1-1/q} \\ &\quad \times \left\{ \left[\int_0^1 t^r (1-t)^s \left| f''\left((1-t)a + t\frac{a+b}{2}\right) \right|^q dt \right]^{1/q} \right. \\ &\quad \left. + \left[\int_0^1 t^r (1-t)^s \left| f''\left(t\frac{a+b}{2} + (1-t)b\right) \right|^q dt \right]^{1/q} \right\} \\ &\leq \frac{(b-a)^2}{16} \left[B\left(\frac{2q-r-1}{q-1}, \frac{2q-s-1}{q-1}\right) \right]^{1-1/q} \end{aligned}$$

$$\times \left\{ \left[|f''(a)|^q \int_0^1 t^r(1-t)^s h(1-t) dt + \left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r(1-t)^s h(t) dt \right]^{1/q} + \left[\left| f''\left(\frac{a+b}{2}\right) \right|^q \int_0^1 t^r(1-t)^s h(t) dt + |f''(b)|^q \int_0^1 t^r(1-t)^s h(1-t) dt \right]^{1/q} \right\}.$$

The proof of Theorem 3.15 is complete. \square

Acknowledgements. This work was partially supported by the Foundation of Education Department of Inner Mongolia Autonomous Region, China.

REFERENCES

- [1] A. O. Akdemir, M. E. Özdemir, and S. Varošanec, On some inequalities for h -concave functions, *Math. Comput. Modelling* 55 (2012), no. 3-4, 746–753; Available online at <http://dx.doi.org/10.1016/j.mcm.2011.08.051>.
- [2] A. O. Akdemir, E. Set, M. E. Özdemir, and Ç. Yildiz, On some new inequalities of Hadamard type for h -convex functions, *First International Conference on Analysis and Applied Mathematics: ICAAM 2012, 18C21 October 2012, AIP Conf. Proc.* 1470 (2012), 35–38; Available online at <http://dx.doi.org/10.1063/1.4747632>.
- [3] H. Angulo, J. Giménez, A. M. Moros, and K. Nikodem, On strongly h -convex functions, *Ann. Funct. Anal.* 2 (2011), no. 2, 85–91.
- [4] R.-F. Bai, F. Qi, and B.-Y. Xi, Hermite-Hadamard type inequalities for the m - and (α, m) -logarithmically convex functions, *Filomat* 27 (2013), no. 1, 1–7.
- [5] S.-P. Bai, S.-H. Wang, and F. Qi, Some Hermite-Hadamard type inequalities for n -time differentiable (α, m) -convex functions, *J. Inequal. Appl.* 2012, 2012:267, 11 pages; Available online at <http://dx.doi.org/10.1186/1029-242X-2012-267>.
- [6] M. Bombardelli and S. Varošanec, Properties of h -convex functions related to the Hermite-Hadamard-Fejér inequalities, *Comput. Math. Appl.* 58 (2009), no. 9, 1869–1877; Available online at <http://dx.doi.org/10.1016/j.camwa.2009.07.073>.
- [7] P. Burai and A. Háyzy, On approximately h -convex functions, *J. Convex Anal.* 18 (2011), no. 2, 447–454.
- [8] L. Chun and F. Qi, Integral inequalities of Hermite-Hadamard type for functions whose 3rd derivatives are s -convex, *Appl. Math.* 3 (2012), no. 11, 1680–1685; Available online at <http://dx.doi.org/10.4236/am.2012.311232>.

- [9] S. S. Dragomir and R. P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, *Appl. Math. Lett.* 11 (1998), no. 5, 91–95; Available online at [http://dx.doi.org/10.1016/S0893-9659\(98\)00086-X](http://dx.doi.org/10.1016/S0893-9659(98)00086-X).
- [10] A. Háyzy, Bernstein-Doetsch-type results for h -convex functions, *Math. Inequal. Appl.* 14 (2011), no. 3, 499–508; Available online at <http://dx.doi.org/10.7153/mia-14-42>
- [11] W.-D. Jiang, D.-W. Niu, Y. Hua, and F. Qi, Generalizations of Hermite-Hadamard inequality to n -time differentiable functions which are s -convex in the second sense, *Analysis (Munich)* 32 (2012), no. 3, 209–220; Available online at <http://dx.doi.org/10.1524/anly.2012.1161>.
- [12] F. Qi, Z.-L. Wei, and Q. Yang, Generalizations and refinements of Hermite-Hadamard's inequality, *Rocky Mountain J. Math.* 35 (2005), no. 1, 235–251; Available online at <http://dx.doi.org/10.1216/rmjm/1181069779>.
- [13] M. Z. Sarikaya and N. Aktan, On the generalization of some integral inequalities and their applications, *Math. Comput. Modelling* 54 (2011), 2175–2182; Available online at <http://dx.doi.org/10.1016/j.mcm.2011.05.026>.
- [14] M. Z. Sarikaya, A. Saglam, and H. Yildirim, On some Hadamard-type inequalities for h -convex functions, *J. Math. Inequal.* 2 (2008), no. 3, 335–341; Available online at <http://dx.doi.org/10.7153/jmi-02-30>.
- [15] M. Z. Sarikaya, E. Set, and M. E. Özdemir, On some new inequalities of Hadamard type involving h -convex functions, *Acta Math. Univ. Comenian. (N.S.)* 79 (2010), no. 2, 265–272.
- [16] Y. Shuang, H.-P. Yin, and F. Qi, Hermite-Hadamard type integral inequalities for geometric-arithmetically s -convex functions, *Analysis (Munich)* 33 (2013), in press.
- [17] S. Varošanec, On h -convexity, *J. Math. Anal. Appl.* 326 (2007), no. 1, 303–311; Available online at <http://dx.doi.org/10.1016/j.jmaa.2006.02.086>.
- [18] S.-H. Wang, B.-Y. Xi, and F. Qi, On Hermite-Hadamard type inequalities for (α, m) -convex functions, *Int. J. Open Probl. Comput. Sci. Math.* 5 (2012), no. 4, 47–56.
- [19] S.-H. Wang, B.-Y. Xi, and F. Qi, Some new inequalities of Hermite-Hadamard type for n -time differentiable functions which are m -convex, *Analysis (Munich)* 32 (2012), no. 3, 247–262; Available online at <http://dx.doi.org/10.1524/anly.2012.1167>.
- [20] B.-Y. Xi, R.-F. Bai, and F. Qi, Hermite-Hadamard type inequalities for the m - and (α, m) -geometrically convex functions, *Aequationes Math.* 84 (2012), no. 3, 261–269; Available online at <http://dx.doi.org/10.1007/s00010-011-0114-x>.
- [21] B.-Y. Xi and F. Qi, Some Hermite-Hadamard type inequalities for differentiable convex functions and applications, *Hacet. J. Math. Stat.* 42 (2013), in press.

- [22] B.-Y. Xi and F. Qi, Some integral inequalities of Hermite-Hadamard type for convex functions with applications to means, *J. Funct. Spaces Appl.* 2012 (2012), Article ID 980438, 14 pages; Available online at <http://dx.doi.org/10.1155/2012/980438>.
- [23] B.-Y. Xi, S.-H. Wang, and F. Qi, Some inequalities of Hermite-Hadamard type for functions whose 3rd derivatives are P -convex, *Appl. Math.* 3 (2012), no. 12, 1898–1902; Available online at <http://dx.doi.org/10.4236/am.2012.312260>.
- [24] T.-Y. Zhang, A.-P. Ji, and F. Qi, On integral inequalities of Hermite-Hadamard type for s -geometrically convex functions, *Abstr. Appl. Anal.* 2012 (2012), Article ID 560586, 14 pages; Available online at <http://dx.doi.org/10.1155/2012/560586>.
- [25] T.-Y. Zhang, A.-P. Ji, and F. Qi, Some inequalities of Hermite-Hadamard type for GA-convex functions with applications to means, *Matematiche (Catania)* 68 (2013), no. 2, in press.